morales (am226923) — Section 14.5 — martines — (53390)

This print-out should have 8 questions.
Multiple-choice questions may continue on
the next column or page — find all choices
before answering.

001 10.0 points

d
Determine d_j when

z = zln(z+ 11y)

and
T = sint, Yy = cost.

dz xcost — 1lzsint
1. — =1 11 t

g n(z+11y) cost+ T T 11y

dz 11z sint
2. — =1 11 t— —

o n(z + 11y) cos iy
3 dz  In(x+11y)sint — 11z cost

Codt x4+ 11y

dz xsint — 11z cost
4. — =1 11y) sint

p” n(x+11y) sint+ T ily

dz x(sint — cost)
5. — =1 11 t

o n(x + 11y) cost + r 1 11y

002 10.0 points

Use the Chain Rule to find % when

ou
z = € cosf
and
r = 6uv, 0 = Vu2+02.
0z , sin 0
1. % = € <6U 0089 — m)
0z , sin 6
2. % = ue <6UCOS€+ m)
0z , sin ¢
3. % = e <6U COSQ + \/usz)
0z , usin
4. % = € <6'U COS@ + m)

0z , usin @
5. % = € <6UCOSQ—W)

003 10.0 points

Use the Chain Rule to find C;—ltu when

w = ze¥/?
and
x:tz, y=4—t, z=4+1t
. v (275———@)@@//2
dt z z
9 MW _ (t_z_%_y>ey/z
dt z z
3. dw_ <2t—§—ﬁ>ey/z
dt z oz
dw T TYN s
PR W
dt z oz
dw r  Adzy
5. Y = (t il —) /2
dt + z + 2 )
6. W _ (t+2 4xy)ey/z
dt

004 10.0 points

Use the Chain Rule to find % when

z = 2% —3xy +y?,

and
r = 25+ 3t, y = st.

0

1. 9z _ dx — 6y — 3xs + 2ys
0s
0

2. 7z _ 6x — 6y — 3xs + 2ys
0s
0

3. 2z _ 4x — 6y — 3xt + 2yt
0s

4. % = 6z — 9y — 3xs + 2ys
0s
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5. % = 6z — 9y — 3zt + 2yt 007 10.0 points
s
6. % = 4x — 9y — 3zt + 2yt If 2= f(, y) and
s
x = rcosdf, y = 3rsind,
005 10.0 points
ou express % in terms of % and %
Use the Chain Rule to find 7 for " r Y
g 1 0z _ 3%COSQ+%SH139
y - TtV T or oz 0y
vtz 0z 0 5
when 2. a—i = 8—;sin39+38—; cos
= = p— 0 0 0
T =p+8r+9t, y =p—8r+9t, 3. & _ 3T(—ZCOSQ——zSiH39>
q or oy ox
an
Z=p+8r—9t. 0 2 202 s043%gne
" B Ey cos 30 + y sin
1. &2 - 2 z (82 0z . )
5. — = 3r( = cosf + —sin 36
p pz ar T oy cost + 9z sin
Ou 9t 0z 0z 0z
2. — = — o hufod — g
ap > 6. 9 = T(Bay cos 9 Sln39>
3. @ = 9 008 10.0 points
op  p?
If z = f(x,y) and
g v _ 9
) (9p N p2 f:c(47 3) = 47 fy(47 3) = _27
ou 9t dz
5. 9, = 2 ﬁndaatt:5whena::g(t),y:h(t) and
p p
_ I(EY —
006 10.0 points 9(6) =4, g5 =5.
The radius of a right circular cylinder is h(5) = 3, W(5) =2
increasing at a rate of 4 inches per minute
while the height is decreasing at a rate of 1 % )
7 inches per minute. Determine the rate of Tdt
change of the volume when » = 3 and h = 4. &
2. — =18
1. rate = 297 cu.in./min. dt
dz
2. rate = 377 cu.in./min. 3. a 16
3. rate = 337 cu.in./min. 4. % — 19
4. rate = 257 cu.in./min. d»
5. — = 20
dt

5. rate = 417 cu.in./min.



